Review Questions
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	1. A small rocket probe in deep space has a mass of 68.5 kg, 45.2 kg of which is fuel.  Its engine consumes .250 kg of fuel per second, and it has an exhaust velocity of 720 m/s.  For how much time will the engine burn?  What is the initial acceleration of the rocket engine?  What is the acceleration just before it runs out of fuel?
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	2.  A rocket takes off from the surface of Earth straight up.  The total mass of the rocket is 5000 kg, 3500 kg of which is fuel.  The exhaust gas velocity is 3000 m/s, and the rocket consumes all of its fuel in 140 s.  What is the thrust of the engine?  What is the initial and final accelerations of the rocket?  (Don't forget gravity!)
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	3. A 125 g bullet going 516 m/s sticks into a 16.25 kg block of wood hanging from a very long string.  What is the velocity of the block right after the collision?  To what height does the block rise on the string?  A bullet of the same mass makes the block rise to a height of .426 m.  What was its velocity? 

Yet another 125 g bullet going 516 m/s goes right through the block, and is going 314 m/s after it goes through the block.  What is the block’s velocity after it passes through, and to what height does the block rise? 
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